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1. Which of the following soiutions contains the largest number of moles of chloride
ions:
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2. A 100.C mi portion of 0.200M potassium hydroxide is mixed with 100.0 mL of
0.200M magnesium nitrate. ;
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3 A 230. mL sample ofa 0.275 \/I CaCl—, solution is left on a hotplate overnight; the

following morning the soiution is 1.10 M. What volume of water evaporated from the
0.275 M CacCl» soiution?
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4. Rust stains can be removed by washing the surface |
(H5C50-). The reaction is:
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saf_Is this an oxidation-reduction reaction?

b. What mass of rust can be removed by 1.0L of a 0.14M solution of oxalic acid?

/, 0t 5 Ot/ L;CZW (madfz.05 /59,7 4 0= _

= le Mt’/yzczot/

B

| Rolte, ,

e e me e




